Froblem Sei #2

3E
@ Beoins Sample Space !
HHH o HTT
HuT THT
HTH TTH
THH TTT

C‘) P Hanc\Talkrmia) :El

@ =

Jetroheclial (‘{s:dac?\ clice !

1"Af§ ‘](u‘fwcn [s poor
/7 L’UG(DLQL tffrd Cl(

ha(g

@ gcxmpit SPOLQL

|

l;:L ko% 2
2,2 | 2,3 I%A
T 3,3 13,A
gy, 2 | 93 4,4
5,2 15,3 |%5,4
AriA>|A ,g

5 I 'm C\s)um,»% ﬂ.

Cg P(-Sawe H
's DQP o numhber

=
20

i

I:')PL lav-g,os+ s 3> :

5,053,2) 33, 2,353,443

+ Haink
q)f(amn<i\ ;‘ ¢ o e
= A+l =1 etC

% = __,. 1C gu.(AS'SUUV‘(

Jdaw add A
be(auu ts h ot

o Tu v ALy

dS T (?"‘cducﬂ— 2_93 :‘E')
E_C).
e) P (QwLUasL\ewn numw> :/E




@ Terst dl"(Q
12 3 4 5 (
I A AR RARCAN LA R

NEd ;7|.'_>' \H_;.,\ k[-pl - 9) 9—'}‘

2

2wt st Lol fetut{= U1 e bl
SQ(Ovd \ . . :
diw § [ppel el julellelefe =l |2 <

5)

o

/{\' o ->|0 \v‘o Qlo\%“ o =

Wﬁ 4 \l/l” ‘T|o\ou P '

(}?LL(.LS

Score =1 Moves = O
Score =2 Mmowres=—> |
Score =3 Wnoves = YR

SCGrf:'Jf mowe S = < |

No Mmov+<

did up where &ww&) [7
|

4,2 55 5o 5 0,5 5 byl

Score < 5" v

o PLE:

)\ )3 L{;

) .

y
o) PLexecty Im a0y )_3_,&_;
i)\')22"§g\ 4,y e

Q,\?éhoi{’, dhan | bud ss than 2 A Clw(y)

3 | ¥
4320235 3,25 3,4 Y
L2y b ‘



	scan_20170302_043019.pdf (p.1)
	scan_20170302_043019_001.pdf (p.2)

